D
ﬁ(i) % b@& A\AEBQ tre brok, operasjonsrekkefolge

StudentName: ExamDate: ExamScore:
2 2 1 3 1 1
_ X _— - = —_— e X — =
5 5 3 2 6 5
1 1
60+-10— - = —4+20+4=
4 4
1 3
4 5
3
Z 28 +4= LAV
2 4 3 5
27*9-1-1— —6+6=
: g :
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tre brok, operasjonsrekkefolge

StudentName: ExamDate: ExamScore:
2 2 1 13 3 1 1 22
_X_—_:(—__) —_ — e X m = = R
5 5 3 75 2 6 5 15 15
23 3 1 21 1
60-10—-= — =5- - +20+4= — =5-
4 4 4 4 4

3 3 18 3

1 19
Z-35+7=(-=) = (-4
4 C3) =04 5 5 75

3 1 1 31 1 9
2 08 td=(—) = (—5= Cxi4o=_2
2 C3)=033) 27375 20
9 1 1 1
27494 2= 2 =3 I o= !
6 2 3)
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